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Kaf: 7 7 7B
B 2023/6/1(K)

MR sk ER= K4 P Fin ok
TF 50m BHEF FERE ERK 33/~ SC 6K 1:24.01
ZF 50m BHEF Mg 2 33/~ SC 6K 57.76
ZF 50m BEF L e 3a/n~vSC 6K 49.94
ZF 50m B FE BE 3a/1<SC 95%, 39.02
ZF 50m B EH KA 3a/n<SC 87X 35.59
ZF 50m BHE mwA M= 3a/1<SC 117% 35.02
TF 50m BxE E#E B 3a,<SC 67% 1:10.80
ZF 50m BxE FrE E&E 33/~ SC 9 44.99
ZF 50m BxE MHE M#F |Z3anwSC 9 42.00
ZF 50m BxE AR P 3a/N~¥SC 9 41.16
ZF 50m BxE AN = 33/~ SC 117 40.80
ZF 50m BxE MHE WEF |Z3anwSC 115% 37.71
ZF 50m FokE L e 3a/n~vSC 6K 1:04.15
ZF 50m FoRE MHE M#F |Z3annwSC 9 50.44
ZF 50m NRZT A4 Mg 2 33/~ SC 6K 1:01.37
TF 50m INZTZA AR P 3a,n<SC 95K 41.12
T 50m INRT A wF A 33/1%SC 8% 39.21
ZF 50m NRT A B TEEE 3a,<SC 115 33.07
ZF 100m BAXRL— |E#E B 3a/1%SC 6/ 2:36.17
ZF 100m BAXFL— |80 & 3a/nN~vSC 6K 2:00.80
ZF 100m BAXFL— | B2 3a/N~¥SC 6K 2:22.69
ZF 200m BAX L — |(FEE E&E 33/~ SC 9 3:20.64
ZF 200m BAXFL— [ZH ¥AB 33/~ SC 8 3:11.60
ZF 200m BAXNL— [#E MIKF |33/ <vSC 9 3:09.32
ZF 200m AAXFL— |[hOx Pk 33/~ SC 9 3:05.88
ZF 200m BAXFL— IR MZE 3a/N~¥SC 11% 2:50.95
ZF 400m B ¥ B TeRE 3an<SC | 11 4:59.37
ZF 400m BAXFL— [#H #¥&F |33/~<SC 115K 5:55.22
BF 50m B BH BEX 3a/n<SC 1% 48.14
BF 50m BHE B I 33/1%SC 8 48.60
5F 50m BHE aH B 33/ wSC 9% 35.63
BF 50m B EBE EIE 3a3,%SC 9% BiE
BF 50m BHE L #E 3a/1<SC 95K, 36.59
BF 50m BHEF X = 33/~ SC 107% 33.05
BF 50m B =248 RX 3a/n<SC 105% 32.72
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Kaf: 7 7 7B
B 2023/6/1(K)
MR sk ER= K4 g F i oE%
EX 50m BHEF a0 =B 33/~ SC 107% 32.42
5 50m B IEEE RfE 3a3,%SC 115% 29.02
EX 50m BxE BH EBEX 33/~ SC T 58.37
EX 50m BxE LT fF 3a/N~¥SC 9 45.23
EX 50m BxE HIEA Mt [2a<SC 9 40.58
EX 50m BxE =T &M 3a/N~¥SC 9 38.97
=2 50m BXE AR EX 3an<SC | 11 35.94
EX 50m FoRE BA 1K Aa/nN~vSC 8 1:00.54
5 50m Pk E EBE EIE 3a3,%SC 9% BiE
EX 50m FoxE HEA Mt [2a<SC 9 46.58
EX 50m NRT A =T F&AE 3a,<SC )5 38.66
EX 50m NRZT A4 Elg I 33/%SC 127% 33.57
EX 50m NRT oA =H BE 3a3/v<vSC 103K 33.57
EX 50m NRT A TERE (= 3a/<vSC 115 30.93
EX 100m Ef=z}iZ AR BX 3a/N~¥SC 117 1:13.33
EX 100m BHEF a0 =B 33/~ SC 107% 1:11.73
EX 100m BEF =T &M 33/~ SC 9 1:13.33
EX 100m BxE X = 3a/N~¥SC 107% 1:18.97
EX 100m FExE mH B 3a/N~¥SC 9 1:38.70
EX 100m FoRE =H BlE 3a/n~vSC 107% 1:23.21
E2 100m BAXRFL— |[ZBHEKX 33/~ SC T 1:49.25
EX 100m AAXFL— |BXIK 3a/n~vSC 8 1:49.25
EX 100m BAXFL— IR KA 33/~ SC 117 1:13.03
E2 100m BAX KL — | X MFEs 3a/N~¥SC 127% 1:11.96
EX 200m BHEF a0 =B 33/~ SC 107% 2:33.62
EX 200m BHEF Elg I 33/~ SC 127% 2:21.59
E2 200m BxE AR BX 3a/N~¥SC 117 2:44.22
EX 200m NRT oA MR KA 3a/<vSC 115 2:34.13
EX 200m BAXRL— |IL'F MF 3a/N~¥SC 9 3:13.26
5 200m BAXFL— |{EBE EIE 3a3,%SC 9% BiE
EX 200m BAXFL— [HESR Mt |Z3a/~<SC 9 2:57.74
EX 200m BAXFL— |BH B 33/~ SC 9 2:54.67
EX 400m BAX L — |&& EBEX 33/~ SC 107% 5:59.66
EX 400m BAXRFL— |X¥F MmHE 33/~ SC 127% 5:23.92




